NEW EURO VISION GROUP

May 4 - 5, 2024. Riga, Latvia

Exhibitions concerning the reconstruction of the economy of Ukraine (construction and architecture)

https://www.neweurovision.com/en

1. Prices for equipped stands in Riga

Equipped exhibition stands	Price per square meter including VAT (EUR)	Stand price including VAT (EUR)
9 square meters	89	801
12 square meters	87	1044
15 square meters	82	1230
25 square meters	79	1975

2.
Stand 3*3 = 9 sq.m. Price: 801 euro (including VAT)
Price include:

ltem	Qty
Octanorm stand modules with 2,500 mm height Basic Equipment includes the assembly and disassembly of the booth, lighting (1 lamp (1000 lm) per three m ²) and a name on the booth cornice (up to 16 characters including spaces). If the	
inscription on the cornice exceeds 16 characters.	9
Table square (70*70)	1
Chairs	2
Wastepaper bin (plastic)	1
Built-in clothes hanger (h = optional)	
Carpet (red, blue, pale grey, green) (per 1m2) Please, specify the colour: red	
Carpet cleaning in the Exhibit Space (1m2)	
Electrical power network installation with a SCHUKO V socket (220 V), to 1kW	1

3.
Stand 4*3 = 12 sq.m. Price: 1044 euro (including VAT)
Price include:

Item	Qty
Octanorm stand modules with 2,500 mm height Basic Equipment includes the assembly and disassembly of the booth, lighting (1 lamp (1000 lm) per three m ²) and a name on the booth cornice (up to 16 characters including spaces). If the	,
inscription on the cornice exceeds 16 characters.	12
Table square (70*70)	1
Chairs	2
Wastepaper bin (plastic)	1
Built-in clothes hanger (h = optional)	
Carpet (red, blue, pale grey, green) (per 1m2) Please, specify the colour: red	
Carpet cleaning in the Exhibit Space (1m2)	
Electrical power network installation with a SCHUKO V socket (220 V), to 1kW	

4.
Stand 3*5 = 15 sq.m. Price: 1230 euro (including VAT)
Price include:

Item	Qty
Octanorm stand modules with 2,500 mm height Basic Equipment includes the assembly and disassembly of the booth, lighting (1 lamp (1000 lm) per three m²)	
and a name on the booth cornice (up to 16 characters including spaces). If the inscription on the cornice exceeds 16 characters.	15
Table square (70*70)	1
Chairs	2
Wastepaper bin (plastic)	1
Built-in clothes hanger (h = optional)	
Carpet (red, blue, pale grey, green) (per 1m2) Please, specify the colour: red	15
Carpet cleaning in the Exhibit Space (1m2)	15
Electrical power network installation with a SCHUKO V socket (220 V), to 1kW	2

5.
Stand 5*5 = 25 sq.m. Price: 1975 euro (including VAT)
Price include:

ltem	Otv
Octanorm stand modules with 2,500 mm height Basic Equipment includes the assembly and disassembly of the booth, lighting (1 lamp (1000 lm) per three m²) and a name on the booth cornice (up to 16 characters including spaces). If the	Qty
inscription on the cornice exceeds 16 characters.	25
Table square (70*70)	1
Chairs	4
Wastepaper bin (plastic)	2
Built-in clothes hanger (h = optional)	
Carpet (red, blue, pale grey, green) (per 1m2) Please, specify the colour: red	
Carpet cleaning in the Exhibit Space (1m2)	
Electrical power network installation with a SCHUKO V socket (220 V), to 1kW	2

Stand 3*3 = 9 sq.m. Price: 801 euro (including VAT) Price include:

Octanorm stand modules with 2,500 mm height Basic Equipment includes the assembly and disassembly of the booth, lighting (1 lamp (1000 lm) per three m²) and a name on the booth cornice (up to 16 characters including spaces). If the inscription on the cornice exceeds

16 characters. **Qty: 9**

Table square (70*70). **Qty: 1**

Chairs. Qty: 2

Wastepaper bin (plastic). Qty: 1

Built-in clothes hanger (h = optional). Qty: 1

Carpet (red, blue, pale grey, green) (per 1m2) Please, specify the

colour: red Qty: 9

Carpet cleaning in the Exhibit Space (1m2.) Qty: 9

Electrical power network installation with a SCHUKO V socket (220

V), to 1kW. Qty: 1

Stand 4*3 = 12 sq.m. Price: 1044 euro (including VAT) Price include:

Octanorm stand modules with 2,500 mm height Basic Equipment includes the assembly and disassembly of the booth, lighting (1 lamp (1000 lm) per three m²) and a name on the booth cornice (up to 16 characters including spaces). If the inscription on the cornice exceeds

16 characters. **Qty:** 12

Table square (70*70). **Qty: 1**

Chairs. Qty: 2

Wastepaper bin (plastic). Qty: 1

Built-in clothes hanger (h = optional). Qty: 1

Carpet (red, blue, pale grey, green) (per 1m2) Please, specify the

colour: red Qty: 12

Carpet cleaning in the Exhibit Space (1m2.) Qty: 12

Electrical power network installation with a SCHUKO V socket (220

V), to 1kW. Qty: 1

Stand 4*3 = 15 sq.m. Price: 1230 euro (including VAT) Price include:

Octanorm stand modules with 2,500 mm height Basic Equipment includes the assembly and disassembly of the booth, lighting (1 lamp (1000 lm) per three m²) and a name on the booth cornice (up to 16 characters including spaces). If the inscription on the cornice exceeds

16 characters. Qty: 15

Table square (70*70). Qty: 1

Chairs. Qty: 2

Wastepaper bin (plastic). Qty: 1

Built-in clothes hanger (h = optional). Qty: 1

Carpet (red, blue, pale grey, green) (per 1m2) Please, specify the

colour: red Qty: 15

Carpet cleaning in the Exhibit Space (1m2.) Qty: 15

Electrical power network installation with a SCHUKO V socket (220

V), to 1kW. **Qty: 2**

Stand 4*3 = 25 sq.m. Price: 1975 euro (including VAT) Price include:

Octanorm stand modules with 2,500 mm height Basic Equipment includes the assembly and disassembly of the booth, lighting (1 lamp (1000 lm) per three m²) and a name on the booth cornice (up to 16 characters including spaces). If the inscription on the cornice exceeds

16 characters. Qty: 25

Table square (70*70). Qty: 1

Chairs. Qty: 4

Wastepaper bin (plastic). Qty: 2

Built-in clothes hanger (h = optional). Qty: 1

Carpet (red, blue, pale grey, green) (per 1m2) Please, specify the

colour: red Qty: 25

Carpet cleaning in the Exhibit Space (1m2.) Qty: 25

Electrical power network installation with a SCHUKO V socket (220

V), to 1kW. Qty: 2

Prices for equipped stands in Riga

Equipped exhibition stands	Price per square meter including VAT (EUR)	Stand price including VAT (EUR)
9 square meters	89	801
12 square meters	87	1044
15 square meters	82	1230
25 square meters	79	1975

The stand can be used to create artwork!